Supplementary Figure 6

A r=-0.2929 r=03 r=0.2871
100 JP<0-0001 p<0.001  p=0.0001 .
— Naive
-=— TEMRA
— EffiIm
CM
........ I
80
r=-0.6070 r.=0.3828 r=0.3526
p<0.0001 p<0.0001 p<0.0001
100 - ,
— Naive
-= TEMRA
— Eff/m
- CM
1
80
E
r=-0.5314 r=-0.1112 r=0.3364
100 _P<0-0001  p=0.2268 p<0.001 |
" — Naive
< 90-
&) -= TEMRA
g 604 - — Eff/m
-
s CM
2
....... ;
80
G
r=-0.2515 r=0.3449 r=0.0484
p<0.0001 p<0.0001 p<0.0001
100 - ,
— Naive-L
(7] -
5 o0 pos ~ TEMRA-L
> 60 ) . — Eff/m-L
/o]
- CM-L
(@]
S

B r.=-0.4134 r=0.0560 r=-0.1429
1200 p<0.0001 p=0.5451 p=0.1265
5 — Naive
% 900- - TEMRA
0> 600 - o — Eff/m
Q 300-
04..
D
r =-0.7339 rS:—0.0418 rs:-0.0053
500 p<0.0001 p=0.6502 p=0.9535
_ — Naive
.
2 4004 -= TEMRA
Q ¢ — Eff/m
%
()]
(@]
F
r—-O 3485r =0.1257 ry =0.2157
1504 p<0.0001 p=0.1712 p<0.05
— Naive
2 — Eff/m
(&)
g 504
|_
0d..
H
r—-O 5865 r——O 016 r—-O 2729
_o<0 0001 p =0.9861 p<0 01
200 — Naive-L
= 1507 -= TEMRA-L
= 00- — Effm-L
° CM-L
Q.




